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Scenario #1





Work Package	Budget	ACWP	BCWP



Survey	500	2,000	400

Remove Debris	2,000	3,500	2,000

Dig Hole	3,000	2,000	2,800

Place Forms	1,200	1,000	1,100

Pour Concrete		5,000		3,000		2,500

Project Total	11,700	11,500	8,800





For Scenario #1





1.	Assuming that the Cost Performance Index, as demonstrated up to the reporting date, remains constant to the completion of the project, what is the EAC for the project?





2.	Assuming that after the reporting date, the remaining portions of the deliverable results from each work package can be provided for the cost that was originally budgeted for those portions, what is the EAC for the project?





3.	Which activity(es) has(have) the least favourable cost variance to date?





4.	What is the projected schedule variance for the total project when every work package is completed?





























Scenario #2





	Item	BCWS	ACWP	BCWP



	1	10,000	11,000	10,000

	2	9,000	8,000	7,000

	3	8,000	8,000	8,000

	4	7,000	12,000	5,000

	5	6,000	12,000	6,000



	Assume that all figures are project-to-date, that all items were scheduled to be completed by now, and that performance on all is credited in $1,000 units.





For Scenario #2





5.	Of the items which have been completed, which was farthest over budget?





6.	Which item appears likely to have the largest cost over-run?





7.	Of the items not yet completed, which one has fallen farthest behind in the value of physical output as measured by schedule variance?





8.	Of the items not yet completed, which one has fallen farthest behind in the proportion of physical output as measured by the Schedule Performance Index?





9.	For which item is there the greatest spending variance to date?

























Scenario #3



	Item	BCWS	ACWP	BCWP



	  1	10,000	10,000	10,000

	  2	10,000	8,000	10,000

	  3	10,000	8,000	8,000

	  4	9,000	12,000	10,000

	  5	10,000	12,000	12,000

	  6	10,000	10,000	12,000

	  7	12,000	12,000	10,000

	  8	10,000	8,000	9,000

	  9	12,000	10,000	11,000





10.	For which item(s) is the physical progress in producing the deliverable results ahead of that planned up to the reporting date?





11.	Among the items with an SPI = 1.0, which one has the greatest CPI to date?





12.	Which two items have the least favourable CPI to date?





13.	If all nine items are taken together, is the project underspent or overspent to date?





14.	Which of the items can be said with certainty, to be fully completed?





15.	How would your client react if you informed him or her that you are $2,000 behind schedule on Item 3.
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